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B2 Aot} o2t R EES stAO|C[0f 14,800 | 2 29,600
HHolH 7HE ot AT EQ0 24 22,800 [ 1 22,800
GO MaE Olslste M2 W A = [= bl 14,000 [ 2 28,000
Biololy &2lo| utet nk-/ s O|X|am 22| 4 15,000 [ 1 15,000
2ol 7 HatE MEMH 13,800 | 2 27,600
SHolH Y HOH A 21M7|= 4 12,600 [ 1 12,600
HH 0|, ZYS HCt ged HEEH AR 13,500 | 1 13,500
SHO[E{7F DHE &= Ml& HIEE Or0J0] £HIZAH  [21M7|52 20,700 | 2 41,400
BIC|O|E{ 7} CtE = M| 4Kt IEHY aArl= S7tetgt 15,000 [ 5 75,000
SH0|HE X|Higt= SA2 & LIA|RX] S22 H| ™ 3 2| o} 15,000 | 1 15,000
HIEOIH, QIZhs s Mtk B AE|QHR T cH2 14,100 | 1 14,100
Mooz dotEE 9| et z&Y 9,800 [ 1 9,800
M2to] L& B2 ofxt #Thsd 5200 X|AE0f 14,000 | 1 14,000
Mehg ot A7 Alg 2IHY Michael Miller GrIGHA 15300 [ 2 30,600
HALENN EXY SETHA| M| 2 CHA =2 12,000 | 1 12,000
MEE BotAF = ME2R IE3DZZIE A toZ o712 AEFA 20,000 [ 7 140,000
SR ALUNY 225 o|EeEA 13,000 | 1 13,000
AITH A of LA | XA QIOLIE A 24,000 | 1 24,000
HEE ot MEISMET LEF F=ShA 25,000 | 1 25,000
LHEFLE HiR= ASKs, HAlzY, Hald YidE 7= 27,000 | 1 27,000
27| 22 MY ol K| oz g4 16,000 [ 2 32,000
OFAL HHE /LS| DIV ABHEE gdot 42BP 11,700 | 1 11,700
Aojol 2= o7|1F U=H 13,800 [ 1 13,800
ol x| =™ 2030 EL| Mt} WEED 15,000 | 2 30,000
Ofl A X|mh2{ CH 2| O 24 A, FEE INEAEL ] 11,700 | 3 35,100
g4 R %53 A 25,000 | 1 25,000
of Xlg =217t HAZE ojzqel & 12,000 [ 5 60,000
2o ALY 2 O cjEA 20,000 | 1 20,000
ot upst HEHEZ NS A 22,000 | 1 22,000
olst W&ol Ojzy R E HAAER 14,000 [ 1 14,000
QX5 HFEHI} QZtg o d= /U2 ALO|IE| T ofmi2|7t HE| SIS AL 16,000 | 1 16,000
2EXs =Y 2030 g 024 HeEs 16,000 | 1 16,000
QS X|s, ROHE BRLCH sk 2FA 15,000 | 1 15,000
QIS X5, O MX| 342 0|0F7| Lactor op7|3|1 2 M E 10,000 | 2 20,000
QX 5, QlZtE ;350 FApN k=3 Xo|E 16,800 | 3 50,400
IEXs/HE OrO| 2 H oyl HjA7| ol ofZth| O 25,000 [ 1 25,000
lEsXsa E 2 oM RELFL S ORI i H| 15,000 [ 1 15,000
QBRI sELO| Xzt Btz M4 Z5H M ek Lt 2,300 [ 1 2,300
Mzl 7tE2 S X|s2l Ozh Nel7tEg stAO|C|0f 14,400 [ 1 14,400
=2 4N Sxto| Hotl= otolC|of ECE3sx A 25,000 [ 1 25,000
LAY B3 9 ojzqol & 16200 [ 2 32,400
Tt EE|3 o]of7| S5 stA0|C|0f 15000 | 2 30,000
MZAMES=EE Hl2|ZH| H 2T | SO C|of 18,000 | 2 36,000




82 |Had Hde|gt ot EA WESHA 19,400 19,400
83 |F YAl AH|THE HBto| AJALE olxIg St M A 5,000 5,000
84 |2EtRAFEO M 4Kt AAHY EE e MZ22 AXY 15,000 15,000
85 |=Z ESRSES 2147184 16,000 16,000
86 |HHI 7|2|E Totzt =9 SE2 HHF = S SHE|TEA st AN AR 14,000 42,000
pAp-=Ne=)
87 |HEIA Mae At Zg% el ojcjof 13,000 13,000
_ PAESE]
88 [HHIA(TR 280l Bt MER M4 o= sl O|C|of 18,000 18,000
89 |EHA, Mds Ert Us? EETIELY 12,800 12,800
_ oMz
90 [EHAL 4l Ot 82| TS HHCH Jaree = 14,000 14,000
91 |st&, HIAZ| 221 AHEE ol 29, =¢=F EARUAHOIM 12,000 12,000
92 [st=0] =HStCt gxd LS 16,000 16,000
93 |2 AAZE E5t= 2| AH A ZEH 27| 11,700 11,700
94 (82X ZX|H zEF DIZAL 13,000 13,000
95 |MOtE ACHH ZEHE ol ek DA} 16,500 16,500
96 | HQ 2] HHE Ardel T ME (1,23) ZY OAE 254 27,600 27,600
97 |2E MY GMOCLEGMOO]| CHet 22X ol Mzt | XL o2 7,800 78,000
98 |HX|Otd 2 GMO u | PNEE 12,000 120,000
99 X7 2H3t FEo HAa R O|& 7|0|-2|, QLEILIH| Ef S A ¢ 14,000 70,000
100 |XI7t2ct=tol X otz Z2E MA, Hyx &OkA|Of 15,000 75,000
101 [XIF2H2HE U= 507HA] L = ZoAM 10,000 50,000
102 |X#e2Hst Z RH ot 23,000 115,000
103 |atek g2l £ 0|&= =] NI ESES 18,000 90,000
104 [MEE2| 2240 EHITt 013 op7 15,000 75,000
105 [4CHZ xmtd =M =0| 13,000 65,000
106 ;:;;Oj;;l_mzwé$ A MR /e olE 4% Pl 7 18,000 36,000
107 2?1}\6}01'2;'%50;%&% THRERS L HE TR 17,000 34,000
108 :gﬁ'ﬁiﬁﬂ QEL;%;EFS:EACTQ e stA0|C|of 13,500 13,500
109 4???1%@; H;;Zﬂf g'EH/:.# jlillgf S BIHE MAZIE Q0| =Hj 2| 18,000 18,000
110 DJ'ZH'; ) Lzr:;;wr /ASRS, 45 fasd rof o x| 22| o} 17,000 17,000
111 1% &5 H 2 olgz U R0l 7 14,000 14,000
112 |[#H0A SFHEH 2 4 A 2BOOKS 12,800 12,800
113 (100 : Lo A AUl 2 dast Sy 16,000 16,000
114 [10CH7} otofF & Oj2f = Yol O|= HEM shAO|C|of 13,500 13,500
115 |10 E 9IS AHEL = olg= YN 13,000 13,000
116 [10CHRl &35t= S Ak O|0FY| ZM0| oty 13,000 13,000
117 [1A1ZHO 1 2 E S Ayt Hasw 15,000 15,000
118 (302 165 &« 2 374! o =% 12,000 12,000
119 [365Y! &CtRo| =535 el £3r| 14,800 14,800
120|749 & HRE 2dLIE 14,500 14,500
121 [iIMAP S5 PARN I Het 13,500 13,500
122 [MOMO st HIEA 11,000 11,000




123 |The professional chef the Culinary Institute of AfWILEY 87,500 87,500
124 [VRH|=L|A A 718 A St M E 13,000 13,000
125 (7hesd HAMZE ojzhol 14,000 14,000
126 |7HRtO] =2 K| Zefl2| HLE| HHZfoloto| & 9,500 9,500
127 (7t 1S Hi&F S ChobE A 13,000 13,000
128 |7t 22A OfL} L2 EES 10,000 10,000
129 |ZtC] REAH OtstEn) Zh ShZ A 20,000 20,000
130 |Zt=%n MEE x| 11,000 11,000
131 |ZAEo| M EF e | 11,000 11,000
132 (og gk CHAbxi 13,800 13,800
133 |24 2HO| =AEHE Ao 4ol 14,000 14,000
134 |n&EXe &Y = "y Ot 2| 13,500 13,500
135 |2¥0|= LA H=3teta 2Rt o Fot2 = 22 7| CHabx 14,000 14,000
136 |1Q3h ol & Hf=d ChAbxigt 13,800 13,800
137 |2X7| €= gAY St EHE AL =] 10,000 10,000
138 | 3ol 2= g2 Chesa 14,500 14,500
139 |89 7l& nciobojxe SOt M| 15,000 15,000
140 |SREE = &Y a8 ez 14,000 14,000
141 | SE 0 A a2 Bff L = ThA 14,000 14,000
142 |3tet st oA AelLyz| ol | x| | Clof 13,000 13,000
143 |&Ae] =25 or2|8 & SAER 28,000 28,000
144 (2Mcl O™HZ F0rA 32| MNEMH 12,800 12,800
145 (A}, =0lA LIS THLECH HERA E2 WA} 15,000 15,000
146 |mALQ} SHll ALO| 5t G7IHE YEE 11,000 11,000
147 |=7tet 2Tt A S HiI7H 15,000 15,000
148 |27tE EatE =ML 10,000 10,000
149 [=O{A|ZtO] A& 817] 1 a4 FOLAE 9,000 9,000
150 (37tA A s 2tel 9,800 9,800
151 |, 20| 7F LHA 2 et 40 a2 11,500 11,500
152 |2k, At HHF FLEA 13,800 13,800
153 (2gel # AMs ofl 17,800 17,800
154 |23l oHMal aYA H=LAZA 16,000 16,000
155 |4zt HE gle 8l sk 7|08k 0|07 |8t SEY(|HAIS L2t 10,000 10,000
156 |7I212 E7H ] PN o] in el 16,800 16,800
157 |71 MEX} 20|A 222 HEA 9,500 9,500
158 |719el 25 40(% =% 13,000 13,000
159 |7IXt O{" A Z[RASt? =My HHAHE 15,000 15,000
160 |71®o] HEH 2l Axz H|=LASA 12,800 12,800
161 |18 2X552H 7| & OHALE gtL|ato| = 13,500 13,500
162 |ZCh &= BE SlAHE 13,800 13,800
163 [%&S 7|%= 4 gt OFZl 15,000 15,000
164 | i Mo W5 of D0t EEE Qe 0|2y 13,500 13,500
165 |& X AUE QT ZYUE LN S| =2 13,800 13,800




166 |Lte LI2 &7|2 JCt a4 Otgols 13,800 1 13,800
167 L HE 2Lt 220 WZIEA| tRo| &St 14,800 1 14,800
168 [Li= DY HOpet &S He=Ct dE 50| =4 13,800 1 13,800
169 [Lte MY EHO| EotR SHO[EFL| X2 dES 9,000 1 9,000
170 |Lt= AlZtO| Ot B2 Of20| |1 oAt HE g TE= 12,000 1 12,000
171 [Lhs @A &2 Hoje 4=2H Hoj 13,000 1 13,000
172 L2t OFR Y= UO|LIX| Y=Lt kel Y E 12,800 1 12,800
173 |LtOJoF HatEel 7|18 SH7|A e Aol e iy 14,800 1 14,800
174 |LHE SRS H|7| QAT EAEQ [CHE 11,000 1 11,000
175 [Ltet &1 2|52 H|” 0]op7] 2740 =S| A A 10,000 1 10,000
176 |Lte| FIH3|0{ 2 &I|TH EE ek | 11,500 1 11,500
177 |Ltel &Y 2ol HaH 57 A sHET 15,000 1 15,000
178 |h ez ELESRs | 8,000 1 8,000
179 |LHEl 2 2|23 B A3 cols 11,000 1 11,000
180 [HEO|7F AOF22 22 5 ZMIE ol gt 11,000 1 11,000
181 [ B2 95 374 b HEDILLE 10,000 1 10,000
182 | SME AotEE 2 ZH AA@= AAHE 12,000 1 12,000
183 |WH O30 X[ = oY= off 14,800 1 14,800
184 | of7 @/ 10| Bob HYA 2 HE[YEA 13,000 1 13,000
185 [Li Q1Mo Ot F& 2z HWEHEA 14,000 1 14,000
186 |2t ELCH ey, =M SISO 12,000 1 12,000
187 [HF AlEi2 2= 2o st St | 12,000 1 12,000
188 || QR E E+& X2, {4 A2 E 13,000 1 13,000
189 |H9| 0|E2 Aztol o2 E Cll 2 M otol 11,000 1 11,000
190 |Hel HEE H 40 20 @F 20]0/C|of 13,800 1 13,800
191 |4, =W AL|CH OFLEA| CHZEA| X| A oA 12,000 1 12,000
192 |=latst R b H S 13,000 1 13,000
193 %7t W K0 2EHEES EAK| L cols 12,000 1 12,000
194 LA, HAZE SICt 449 g 10,000 1 10,000
195 |Ch M&CH g2 43P 13,500 1 13,500
196 (2ol mu orAH XA QISR A 12,800 1 12,800
197 (2ol =& Sk dZ|HE 13,800 1 13,800
198 |42 ZE7|0| st g # BME SELHAL 15,500 1 15,500
199 [E4lel Ho| HX| @b TIM Ol & B Ef A AEETA 13,800 1 13,800
200 |ghlo| etHst 14 MNEZH 7t =4 14,800 1 14,800
201 [E4lo] mRsiA &0] gH&LICt de= o= 12,000 1 12,000
202 (CHetRl= otEEo| H| Y T3¢, o] 2F "E 12,000 1 12,000
203 [E0|1Z # gle 4S5 OFF O 713 SEEHAt 15,000 1 15,000
204 (524 ZE 20 gEUMS 10,800 1 10,800
205 |[BE5% ZX 29 QIS AL 7,000 1 7,000
206 |SHE FARTES i MU PN ESPNG 11,000 1 11,000
207 (&0 StLZE WEJE FHIA L 25 o|oj4 galolae 17,000 1 17,000
208 |FIHH mEtshd AZ|AEH &[&0 WNISES 12,000 1 12,000




209 |C|of Ooto| == L33 S22 2AHL 13,000 13,000
210 |2t0|= Of=E{f 2f0o|= A O|E Az7l& ALY 14,800 14,800
211 |2t H A O|HELL] 3|2 A| ojzhol 14,000 14,000
212 |WE HEo| MHT upst 2 s HE ANSAL 20,000 20,000
213 (2t Oro| ML AZAI2 13,800 13,800
214 (OtehE L2 A& ghdo] A A - ETAL 12,000 12,000
215 (2ol H| Y o|xy e ML 12,000 12,000
216 |UF StLt HIRE Eol| LIO|E QAI3|E FrEA 13,000 13,000
217 |HAF 2| HE ool x4 & HEA 7,900 7,900
218 |HAL Bt HE EHE g BEA 7,900 7,900
219 |25 Zo A=0| | 11,000 11,000
220 |R5E B HOUE H sA 23tE 1| 13,000 13,000
221 |2Fo| o EES mEEA 15,000 15,000
222 (22 o5t ol HIEA 11,000 11,000
223 |8 %9 fa o QAIME 7IREA| M mptskAb 8,000 8,000
224 |SRYRE ZE X o|&aA 13,500 13,500
225 |RATtA At 7bFEF O Q sato|= 12,000 12,000
226 |22 @2 Y E H3 | 12,000 12,000
227 (2117 & Aot ZUHM HH ool = 20,000 20,000
228 [O|=20l 7t HO{X|= Dj=H 4dd= ZOLAE 14,000 14,000
229 |OjotstCha 2hsh o018 22 H 22C 14,800 14,800
230 |OJQtsi 20|7t SLOFA| O] 7 = 8,500 8,500
231 |0j2EE 87 7|Al0] O|X|2, nItZO|EH I EFAHE 14,900 14,900
232 |O]xof 5t L el CHitoll & 15,000 15,000
233 (HiCH 24 B2 7|~ R AAH- 12,000 12,000
234 |HtEo| EF gt &k 2 @ Al ZAL 14,000 14,000
235 |HIH|EQ| THE O|Xt= i M elE | 11,500 11,500
236 |HHEHE =ot O ZALCH st AN AR 13,000 13,000
237 |HtAF LS| JHO F2| F St XFE olgtg LR EMEAEE | 13,000 13,000
238 |HtEA| ChA| SOFRLCH 25 H &4 11,000 11,000
239 (ZE2 Xt =0 He S® QLELOF 2| At INES NI EnRSS 11,000 11,000
240 |2 E3h Al gzl AEETAL 13,800 13,800
241 Xt Hela =y ojagel 9,500 9,500
242 (HHLO M A =3t OtAH BOLIAE 16,000 16,000
243 [H2to|ofEl RFLH3|H L SO 2s 14,000 14,000
244 (HZ[AL HRE SHF B AL 28,000 28,000
245 HZ20| m|ACt X|5tof oF7H| Az 12,800 12,800
246 | Z2kx Ftozt 254 9,500 9,500
247 [HMA AR dEY ANSAL 13,800 13,800
248 (289 EXY o|M ¥ = 12,000 12,000
249 |B2Z &7tE FaREk| N RS 11,000 11,000
250 |EHS 2l ols& ol 14,000 14,000
251 | =2t AlChel atek 97| 45 32| 15,000 15,000




252 (2HO|H 2MOiZ 2= O| RO Tt *5E o4 = 15,800 15,800
253 (=l o=2at2x A = ko) 12,000 12,000
254 (2ot QU =7 P PN E 12,000 12,000
255 |z oa| o 2\ 22 230z olc|z 14,800 14,800
256 L Oz| ool St=2 L= Of2H| 16,000 16,000
257 |'ZHEIN LS Orgols 13,000 13,000
258 |Atnt7t ) Hye | 8,500 8,500
259 |AtEHE eff orE Mt A= 2 14,500 14,500
260 [AtE2 A|ME 20t N S22t 13,500 13,500
261 |AHES 0{F= OfX} ZR0| ORE 15,800 15,800
262 [Ato|iA 2[R dgal SOFA[O} 22,000 22,000
263 |AbEZ|2tA 2K? oy g 10,000 10,000
264 (ApIA A Y 52tz LA 22,000 22,000
265 |AIZIS XA Lt AL S X[ A dAMzl 27 13,000 13,000
266 |AHEIXL EHZE EX Ik =g, 15,000 15,000
267 |M= HOI7tHAM FSOtEX| =Lt FAlzt Os 14,000 14,000
268 |Wzttcte A nk=E| H st 10,000 10,000
269 |"49HO| A= A2 Ct OFEECt A =EET 12,000 12,000
270 Mg HatAI7|E AFEQEY : loT Michael Miller FrIstA 17,000 17,000
271 |MAZH o|ot?| Mo =Y 15,000 15,000
272 (MATEAM 40 2 g 2t 2 16,800 16,800
273 |M&OIM ZHE 82 okt 2[X| EatAH A Hij 2 =t 13,000 13,000
274 (MIME|E (SR QLT AR 213 UM E CHAF3.0 14,000 14,000
275 |H2 & & Ote MU0 o X} QLA QLS gRAME 14,800 14,800
276 |AHO| 2Lt oty | 12,000 12,000
277 |a~3EtH AL HE SEtE 2O ETA 12,000 12,000
278 |EEI5t 0 LAISH oh= TLHA 48H HYSol=2 18,000 18,000
279 |£&39| O/ zed 2ats4 12,000 12,000
280 [=Atel = AR dEsi0rg 18,000 18,000
281 |s=4boh WE D 52%0| FtE QFE! 7HOHH S AAL 14,800 14,800
282 |aT AMEE S| 7kAl e Aol ojlo|x| = 2| of 13,000 13,000
283 |58, QB2 =5 QiCt & ot ZshA 14,500 14,500
284 |&Z0| High 2 o E ZotE| SEEW 14,000 14,000
285 [AELCIZE 30 =z O ol & 16,800 16,800
286 |AI|EH|0f &l Opo dEF 9,000 9,000
287 |AI7F HAHIZ 2T 4 EE OfSAHA 6,500 6,500
288 |AlZhE O &H ARN RS ASoEE 11,000 11,000
289 |AlZte] YAt ENSES THK| 23,000 23,000
290 [AlH ofo7| op7tet 237t 13,000 13,000
291 (A& 92 acioiA RSN ESS F[OLIAE 15,000 15,000
292 (A2l &F St & 12,000 12,000
293 |AIEF 29 MIAA olgd= | 11,000 11,000
294 (HO|Z YLIT}, YBl7| &0I5 Y 220} 15,800 15,800




295 (MElgtoz HE ZMYEME a4 g 12,000 12,000
296 | CHE Roh Fat & st QlEsh of ESER HopA 12,000 12,000
297 |AOHE @I CHA EHOf SA|RE CHFLo}7| M=% 10,000 10,000
298 | O H|A 0]d 0|3 AH2IFRIENDS 11,000 11,000
299 |A=22i0] Ho| mi gt A=l HHgfoloto| & 9,500 9,500
300 (&gt =28 o =& o= 11,500 11,500
301 [OSCHR HtAXtE Z0| 3z|AHY s 12,000 12,000
302 [OtRE =Y & 12,000 12,000
303 |Ot*E ¢stof g4 CHE 9,000 9,000
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